II m IV % VI VI
K*(892)%p(770)° lgl 0.205+0.019+0.010 0.002 0.006 0.003 0.001 0.005 0.006
arg(g)[’]  —8.502+4.662+4.439 0433 1.272 0.112 0.148 4.150 0.799

F 9.617+1.584+1.028 0.134 0436 0.344 0.069 0.567 0.637

lgl 0.390 +0.029 £ 0.006 0.002 0.003 0.000 0.001 0.004 0.003

[K*(892)°p(770)°]“=" arg(g)[’]  —91.359 £4.728 £4.132 0406 0.827 0.128 0.101 3.951 0.766
F 8.424+0.827+0.573 0.069 0.091 0.210 0.020 0.458 0.249

[K*(892)°p(770)°] *~ F 10.1914+1.028 £0.789  0.089 0.130 0.255 0.018 0.658 0.314
lgl 0.5414+0.042+0.055 0.004 0.043 0.018 0.001 0.024 0.016

p(1450)0 K*(892)° arg(g)[’]  —21.798 +6.536 £ 5.483 0573 4.532 0.547 0.254 0.254 2.960
F 8.162+£1.242+1.68 0.107 1.381 0.474 0.031 0.718 0.428

K1 (1270) - lg] 0.653 +0.040 £ 0.058 0.004 0.017 0.009 0.001 0.049 0.024
arg(g)[°] —110.715+5.054+4.854 0.481 1.484 0.219 0.056 4.236 1.770

F 18.147+1.114+2.301 0.104 0.800 0423 0.021 1788 1.125

. g 0.560 +0.037 £ 0.031  0.003 0.020 0.011 0.001 0.018 0.010

K, (1400)* [K*(892) " | m Lrlg(g)["] 20.760 £ 4.220 £ 4565 0.396 4.055 0211 0.060 1638 1.227
F 26.549 £ 1.973£2.128 0.190 1.715 0.469 0.046 0.940 0.667

(K="= rta )"0 F 20.901 4 1.295+1.500 0.129 0.328 0.565 0.134 1.246 0.486
lgl 0.686 4+ 0.043 +0.022  0.004 0.007 0.002 0.002 0.019 0.007

@s/2 arg(g)[?] —149.399 +4.260 £2.946  0.502 0.277 0.181 0.082 2.809 0.651

8 || 0.438 +0.044 4 0.030 0.004 0.006 0.010 0.001 0.026 0.010

! arg(g)[°] —132.424+£6.507+£2.972 0.618 1.109 0.357 0.200 2.382 1.174

|| 0.050 +0.006 4 0.005 0.001 0.001 0.001 0.000 0.004 0.002

Jr arg(g)[°] 74.821 £ 7.528 £5.282 0.695 0.745 0.149 0472 5.050 1.058




